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P-1(1+1+1) G/17 (N)
2017
SOCIOLOGY (General)
Paper Code : I-A

[ New Syllabus ]
Full Marks : 50 Time : One Hour

'Important-lnstmctions for OMR Sheet

1. Write / Fill your correct Subject Name, Subject Code & Paper Code
in the space provided on the top of the OMR sheet (Subject Codes
are given on the back of the OMR sheet & Paper Code in the

Question Paper.)

2. Write / Fill your Roll number, Reglstrahon number, Regn. Session,
Exam Date and Exam Session in the space provided on the OMR
Sheet.

3. Each item has four alternative responses marked (A), (B), (C) and (D).
You have to darken the circle as indicated below on the correct
response against each item. _

4. Your responses to the items are to be indicated in the OMR Sheet

given inside the Paper Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.

5. If you write your Name, Phone Number or put any mark on any
part of the OMR Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, or use. abusive language or
employ any other unfair means, you will render yourself liable to

_ disqualification.

6. You have to return the OMR Sheet to the invigilators at the end of
the examination compulsorily and must not carry it with you outmde
the Examination Hall.

7. Use only Blue/Black Ball point pen. Use of any mobile phone,
calculator or log table etc. in examination hall, is prohibited.
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Answer all the questions in OMR s,
Choose the correct answer.
| Each question carries 1.25 marks.
. Sociology is derived from two words — identify -
(A) Latin and Spanish
(B) Greek and German
(©) Latin and Greek
(D) Portuguise and Greek
S| TS ¥ 45 3 m.mﬁﬁ?ﬁ%@ﬁ—;
(A) =i @32 ~pifs |
B) T @R Tl
(C) T @2 Mo
D) e oz A
2. H. M. Johnson has defined sociology it amolfiect dealing with —
(A) Growps | |
(B) Institutions
| © Intcmcuons
f (D) Social structure

Turn Over
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Jis “@@“W"Wmmmmmwm—
- (A) o fen |

®) b e
(C) 7% farx
D) e e fig

3. Society is derived from the word
(A) Greek word |
®) Liin word

‘Socius’. Socius is a —

(C) French word
D) None of the above |
°! "GP it Beofls ori e cae o T —
() Az =
(B) =il 1w
(© wﬁ? o
(D) DR 73
4. The essential element of society is —
(A) Locality
*(B) Disharmony
~ (C) Non-cooperation |
(D) Property

2/115 21600
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8 | AN AAGAR S 7eT —
(A) SiEH
(B) PGSt
(C) rrralfaret
(D) e
5. Among the following which is an example of community ?
(A) Club
(B) Family
(C) NGO
(D) Crowd
¢ | FeiERosfEm Wy @b emimE Swead @
(A) R
®) #ffFar
(C) = & ¢ @RIIfF =7
D) ST
6. Which one of the following is not an institution ?
(A) Marriage
(B) Education
(C) State
(D) Crowd

Turn Over
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v | FsfiReetn Wy @Rb afedm 7y 2
&) R |
®) Frs
(©) 1%
D) S

7. Who f:lassiﬁed the group as Gemeinschaft (community) and Gesellschaft
(association) ? -

(A) Homans
(B) Cooley
(C) Sumner
(D) Tonnies
TR @ RS (oMl <R ufY Rerem & e ¢
(A) ==

®) ¥
(©) =R
(D) o=
| 8. One of thf: founder of Synthetic School is — .
(A) Hobhouse
(B) Simmel
(C) Vierkandt
(M Max Weber

12/“5-2Iﬁ90 ( 6 )
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b | FROATYS TSN S 27| J0e —
(A) z=ITH
B) Frese
(C) Touz=®
(D) Ui SEREA
9. Role contflict is a major phenomenon of —
(A) Primitive society
(B) Agrarian society
(C) Tribal society
(D) Industrial society
> | Sl we (P e awgeld T ¢
(A) wfus sf3re
B) R T
(C) =iy e
(D) Pefsa e
10. Status depends upon —
(A) The performance of his role by the individual
(B) The social value of the role of an individual
(C) The standard of living of an individual
(D) None of the above

Turn Over
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;
L s

so| WHiwt F€7 Fm —
(A) I g ITvimTT Bomm
(B) TR SR RS TR S
(C)m-ﬁmm@ﬂa
(D) FFDIR 71 |

11. Who divided society as Sunple compound, Doubly compound and Trebly
compound ?

(A) Comte
(B) Durkheim
(C) Spencer
(D) Weber

3% | TRE AN, mﬁawwmﬁvmwmm T
9% @R Rorew @ e

(A) e
(B) TR
(©) o
(D) ewa™
12. ﬁwBen@hspreferncetotmad This is the example of —

(A) Custom '

= (B) Folkways
(C) Norms
(D) Mores

2/115 -21600 | (8)
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531 T T (T TS e FA— b oD S —
(A) =t
B) TR
(C) A&
(D) TS
13. A group in which one has a ‘we-feeling’ is called —
(A) Politiéalgroup'- o
(B) Transitory group
(C) Primary group
(D) Quasi group
So| (@ (NP TG AR @Y AE OITF A W —
(A) F&ATSS oA
® wR o
©) 2@ ord
D) APTER o / Wl cdh

14. “Our culture is what we are, our civilization is what we have” — who said

(A) Maclver
.B) C. C. North
I(C) Tylor
(D) None of the above
“Turn Over
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38| TINA (TN ©F T AW AHRS, TANWR T Wi ©IR T& AR
Fepor— FAUDL (& IETH ?

(A) TSR
®) B &L oad
©%vEmm
D) T .
15. Which among the following is not a function of culture ?
(A) Regulation of social conduct of individuals
(B) Teaching the individuals to live and behave in the society
(C) Inculcating sense of aggressive competition
(D) None of the above ]
se| Frsffoen g oA wefen e o 2
(A) I ANES wpadE “fsies s
(B) IS IR A~AE Jeslie Pl emi a1
(C) wigFwa aAfsrafrer Swe 31
(D) CPROE
16. What does culture usually reflect in modern society ?
(A) Group culture
(B) National culture
(C) Religious culture
(D) Geographical culture

2/115 - 21600 (10 )
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So| YT TS @R GEER A AT 7w 2
(A) oI AcHS |
®) W 7
ORLERS |
D) cSoMferE S |
17. Which among the following is not an example of material culture ?
(A) Food |
(B) Dress
(C) Values
(D) Furniture
39| FrafiRoeRm Ty PR TeT AR SR e
(A) A |

B) comi-sifv:

(©)
(D) SRR |
18. Matriarchal family means —
(A) Daughter-right family
- (B) Father-right family
(C). Mother-right family
(D) None of the above

Turn Over_
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S| Mipeide «ifFam o5 —
(A) T 3FT A
B) P 3¢T =i
(C) e 3T sifFarm
(D) PHOIE 77
19. Who divides the functions of family into essential and non-essential ?
& Lundberg
(B) Maclver
(C) Burgess
(D) Davis
5 | A RS AT & wemE «F 5 el (@ KT T ¢
(A) “Ttef
B) TPRER
(C) e
D) cefes
20. Among the following which is not the characteristic of joint family —
(A) Small size
(B) Joint property
(C) Common residence

(D) Common religion

2/115 -21600 ( 12 )
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o | FeEReskm wg @R @1 sAfaie @Y T e
(A) T8 TR
B) @Y TG
(C) &2 ATZ
(D) 3% &l

21. The rule that prohibits heterosexual relationships between various categories
of kinship is called — '

(A) Incest taboo
(B) Anuloma
(C) Pratiloma
(D) Endogamy

| ST T ORE [on e wskicge g @ e ARw 9917
s <o T —

(A) SHIBE

(B) SweteTy
(C) =iftam

(D) Bz

22. The form of marriage under which the groom is to pay a price to the family
of the bride is called —

(A) Exo gamaus marriage
(B) Purchase marriage
(C) Exchange marriage
(D) None of the above
Turn Over

2/115 -21600

( 13)

Digitized by the Librarian, Central Library, Malda College, Malda on 14th January, 2019, Page -12 of 25



UGB_UG_Question_Sociology General_ Part-I_ Examination_2017

R AT T I AR 94 e R v o o @ 75 —
(A) 3Ry
(B) sd2Am Ram
(C) R Rarg
(D) CFIGIZ 71
23. Who wrote the book ‘History of Human Marriage’ ?
(A) Westermark
(B) Radcliffe Brown
(C) W. J. Goode
(D) Burgess
R©| “History of Human Marriage’ 5% 3= 7721 2
(A) eHRME
B) IrefFT A8
(C) ofE
(D) TS
24. Which one is not a secondary kin ?
(A) Wife of brother-in-law
(B) Sister’s husband
(C) Wife’s brother
(D) Brother’s wife
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8| A & e ¢t e ¢
Q) e "
(B) @GR 7
(C) qx =i
©) SRER R
25. The term social stratification refers to —
(A) the division of population into different categories
(B) division of population in temﬁ of class |
(C) division between different properties
(D) None of these _ |
3¢ wmtféw w1 Rt TS e —
(4) Rien = weicn Ty Rerem
®) Rfea @ wyg Reww
(C) Rfen w~ifen sy Rerew
D) CPRBIE 7w
26. Who regards social stratification as a “functional necessity” for all societies ?
(A) Davis and Moore
(B) T. Parsons
(C) Weber
(D) Marx

Turn Over
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| IAF IR CHLAZ AN B e 3t el Srmeaigs! I8 —
& A ?

(A) Cefer @32 J@
®) .
(C) STRR
(D) W
27. Gender isl—
(A) Culturally determined
B) Socially determined
(C) Biologically determined
(D) Politically determined
4| AE o 7@ —
(A) AgsTer fAdifFe
B) AfEFez fdifts
(C) oo Fdifke
(D) FGATeTera A4iFe

28. The caste system is a —
(A) Political institution
(B) Religious institution
(C) Economic institution

(D) Social institution
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| Giferew e 28 —
(A) SRS eI
B) «Tw oAfSSm
(C) wftafST eifedm
(D) e &ifSvm

29. Who is Dvija ?
(A) One bom in the family of Brahmin
(B) One bom in the family of Kshatriya
(C) One bom in the family of a Vaish
(D) Néne of the above

| fRw 3w A= 2
(A) A9 SRR I e TAALY IR
(B) =y +fFI7 I 9ITH TRAZA IR
(C) T3 RN T4 GIoW TAT IR
(D) B 7

30. A farmer’s son gets a government job. It is an example of —
(A) Horizontal mobility
(B) Vertical mobility
(C) Intergenerational mobility
(D) Intragenerational mobility

Turn Over
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90 | T AR (L T HIIIA I AR O (6 @A Wiz 2

(&) ST Aoerel
(B) Ty peTol
(C) o&ATA Hoerol
(D) goTg et
31. The concept of cultural lag means —
(A) Changes in material culture are very slow

(B) Changes in non-material culture are faster than changes in material
culture L

(C) Material culture changes faster than non-material culture
(D) None of these |
© | TFHW e Fwre @RI —
(A) TS Fieglen w51 ofers «AfRés
B) 6 AF gewin Ry 7eFea ws sffadw
(C) RS gl womm 6 1<gfon wo AfRads
(D) IO 7 |
32. Who wrote ‘Rural Sociology in India’ ?
~ (A) M. N. Srinivas
(B) A. R. Desai
" (C) G S. Ghurye
(D) G. P. Murdock
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©%| ‘Rural Sociology in India’ 28 & 03 ?
(A) @99, @7, S
(B) 4. TR IR
©) f& @1 @
D) f&. . w6
35, Festureof resd society is —
(A) Caste system
(B) Specialization

(C) Industry
(D) None of the above

oo | A TITER REY T —
(A) wifsga
B) Reefiwadt
(C) Fm
(D) WG} 17
34. One of the causes of a shift from extended family to nuclear family is —
_ (A). Globalization
(B) Industrialization
(C) Liberalization

(D) Privatization

Turn Over
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o8 | Rgs *fRam (T G AR 1SS gemrm s 2o — |
(A) R
@) Frera
(C) el
D) FrAwTad
35. The concept ‘Urbanism as a way of life'— was given by —
(A) Louis Writh |
(B) Malinowski
(C) Max Weber
(D) Redfield
©¢ 1 “Urbanism as a way of life’ 4R & fizaes 2
@aremy
®) wiws
©) I™ emrE
D) =© g
36. The main problem of city life js —
(A) To develop secondary mlgﬁons
._(B) To develop close pa'sonalrelauons
(C) To get children educated
(D) None of the above

2/115 -21600 ( 20 )
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o’mmfﬂamaﬁmwéa—-
(A) N9 i a7 Cote
(B)WWWWWCW
(©) WA FifFs a1
(D) FHHE

37. ‘Factory Act’ was passed—
(A) 1947

(B) 1948
(©) 1976
(D) 1986
V41 “Factory Act’ 2if a1 I A TS 2
(A) >»814
(B) s58v
(C) spav
(D) sty
38. In the present day industrial society is marked by —
(A) Horizontal mobility
(B) Vertical mobility

(C) Intergenerational mobility
(D) None of the above

Turn Over

2/115 - 21600

( 21)

Digitized by the Librarian, Central Library, Malda College, Malda on 14th January, 2019, Page -20 of 25




UGB_UG_Question_Sociology General _Part-I_ Examination_2017

o | 36 B T S wrt Bfze 23 2

(A) SEfr e
(B) CwRl eTol
(C) aemga Aberol
(D) @FHE T

39. The full form of IRDP is —
(A) Integlatéd Rural Development Programme
(B) Institutional Rural Development Programme
© hltegrativc_e'Rural Development Programme
(D) None of the above

o | Wiz, w7 3. 3. *fba sl el 7| —
(A) Integrated Rural Development Programme
(B) Institutional Rural Development Programme
(C) Integrative Rural Development Programme
(D) @02 7@

40. LPG means —

(A) Liberalization, Privatization and globalization
(B) Licence Raj, Privatization and globalization
(C) None of the above

(D) All of the above

2/115 - 21600 ( 22 )
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8o | @@, f. &, wafdy o w51 —
A) Liberalization, Privatization and globalization
(B) Licence Raj, Privatization and globalization
(C) None of the above :
(D) All of the above

2/115 - 21600 (23 )
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P-1(1+141)G/17(N)
2017
SOCIOLOGY (General)
 Paper Code : I-B
[New Syllabus]
Full Marks : 100 Time : Three Hours
The figures in the margin indicate full marks.
Group - A

Answer any five questions from the following
taking at least one from each section.

L 15x5=75
Section - 1
1. Discuss the relationship of Sociology with History
and Political Science. 15
2. Define social group. Discuss in brief the types of
social groups. 5+10=15
3. Define culture. Discuss different elements of culture.
5+10=15
o Section - II
~ 4. Define marriage. Discuss the forms of marriage with
~ suitable examples. : 5+10=15
' 5. Why is marriage considered as an important social
institution ? Discuss. . : 15
6. What is social mobility ? Discuss the various types
of social mobility. 5+10=15
| P.T.O.
2/116-21600
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( 2 )
Section - III

7. Define urban community. What are the differences
between rural and urban communities in India ?  5+10=15

8. What is industrialization ? Discuss its-impact on rural

society. 5+10=15

9. What is liberalisation ? Discuss its impact on Indian

society. - 5+10=15
Group - B '

Answer any five questions from the following
taking at least one from each section.

5x5=25
_ Section - I
10. Identify the important features of society.
11. Discuss the importance of socialisation.
12. Discuss the purposes of social control.
' Section - II _
1 ‘Write a brief note on kinship usages.

14. Identify the important characteristics of social
stratification.

15. . Explain the concept of cultural lag.

Section - III
* 16. Explain the concept of urbanisation.
17. Discuss the impact of industrialisation on caste system.
18. Distinguish organized labour from unorganized labour.

2/116-21600

(3)
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(4)
v | PR FiE aE 2 A el 8ok MEiEeE gel
el ¥4 | E+50=5@¢
5| CHIFAd & 2 SIEeE AMET T 93 A
DAl 9 E+S50=>5¢
etat - 2
Afefd et (A PAew GFH I
GG <litelo 2 Tea e | ExE=3¢
g - 5
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